

Negative Implicative BCK-Algebras

Qiuna ZHANG¹, Cuilan MI², Xinchun WANG³, Yuhuan CUI⁴, Yongli ZHANG⁵

^{1,4,5}Hebei Polytechnic University College of Light Industry, Tangshan, China ^{2,3}Hebei Polytechnic University College of Science, Tangshan, China Email: zhangqiuna@yahoo.com.cn

Abstract: The notion of BCK-algebras was formulated first in 1966 by K. Iséki, Japanese, Mathemation. The notion of positive implicative BCK-algebras was introduced by K. Iséki in 1975. In previous studies, scholars gave the definition of the positive implicative BCK-algebras, its characterizations and the relationship between other BCK-algebra, but it does not give the definition of the negative implicative BCK-algebras, thus in this article, we will give a definition of negative implicative BCK-algebra as well as some characterizations.

Keywords: BCK-algebra, negative implicative BCK-algebra, positive implicative BCK-algebra, binary operation

1 Introduction

The notion of BCK-algebras was formulated in 1966 by K. Iséki, Japanese, Mathemation. This notion is originated from two different ways. One of the motivations is based on set theory. In set theory, there are three most elementary and fundarmental operations among various operations including the general analytical operation introduced by L.Kantorovic and E. Livenson to make a new set from old sets. These fundamental operations are to make the union, the intersection and the set difference, then, as a generalization of those three operations and properties, we have the notion of Booltean algebra. If we take both of the union and the intersection, then, as a generalization of this notion, for example, there is the notion of semirings. Moreover, if we consider the notion of the union or the intersection, we have the notion of an upper semilattice or a lower semilattice. But the notion of set difference was not considered systematically before K. Iséki.

Another motivation is from classical and non-classical propositional calculi. There are some systems which contain the only implication functor among the logical functors. These examples are the system of positive implicational calculus, weak positive implicational calculus by A. Church, and BCI, BCK-systems by C. A. Meredith.

There are many classes of BCK-algebras, for example, subalgebras, bounded BCK-algebras, positive impli-BCK-algebra, implicative cative BCK-algebra, BCK-algebra, BCK-algebras commutative with condition (S), Griss (and semi-Brouwerian) algebras, quasicommutative BCK-algebras, direct product of BCK-algebras, and so on. They gave a theorem of estimating the number of subalgebras in a finite BCK-algebras, and gave a way extending BCK-algebras, and also provided characterizations of commutative,

positive, implicative BCK-algebras.

They gave ideals in BCK-algebras. The ideal theory plays an important role for the general development of BCK-algebras, they discussed ideals, implicative ideals, commutative ideals, positive impolicative ideals, maximal ideals, finitely generated ideals, principal ideals, prime and irreducible ideals, Varlet ideals, additive ideals,and minimal prime ideals; they also gave basicproperties and some characterizations of suchideals; they considered quotient algebras, Noetherian BCK-algebras, lower BCK-semilattices, decomposition properties of ideals and ideal lattices.

Here we will give a new class of BCK-algebra, which is called negative implicative BCK-algebra.

2 Basic Knowledge

Definition 1 Let X be a subset with a binary operation * and a constant 0. Then (X;*,0) is called a BCK-algebra if it satisfies the following conditions:

BCI-1
$$((x*y)*(x*z))*(z*y)=0$$
,

BCI-2
$$(x*(x*y))*y=0$$
,

- BCI-3 x * x = 0,
- BCI-4 x * y = 0 and y * x = 0

Imply
$$x = y$$

BCK-5 0 * x = 0.

In X we can define a binary operation \leq by $x \leq y$ if and only if x * y = 0. Then

(X;*,0) is called a BCK-algebra if it satisfies the following conditions:

BCI-1' $(x^*y)^*(x^*z) \le z^*y$ BCI-2' $x^*(x^*y) \le y$ BCI-3' $x \le x$



BCI-4' $x \le y$ and $y \le x$ imply x = y

BCK-5' $0 \le x$

BCI-6' $x \le y$ if and only if x * y = 0

For any BCK-algebra (X;*,0),* and \leq are

called a BCK-operation and BCK-ordering on X respectively.

Example 1 Let $X = \{0, 1, 2\}$ in which * is defined by the following table

| * | 0 | 1 | 2 | |
|---|---|---|---|--|
| 0 | 0 | 0 | 0 | |
| 1 | 2 | 2 | 0 | |
| 2 | 2 | 2 | 0 | |

Figure 1 The definition Table of $X = \{0,1,2\}$

Then (X;*,0) satisfies BCI-1, BCI-2, BCI-4 and BCK-5, but it does not satisfy BCI-3, so (X;*,0) is not a BCK-algebra.

Lemma 1 In a BCK-algebra (X;*,0) we have (x*y)*z = (x*z)*y for all x, y and z in X.

We can find the proof in [1].

Lemma 2 In a BCK-algebra (X; *, 0), we

have the following properties:

1) $x \le y$ implies $z * y \le z * x$

2) $x \le y$ and $y \le z$ imply $x \le z$

Lemma 3 In a BCK-algebra (X;*,0), then for any x, y, z in X, the following hold:

1)
$$x * y \le z$$
 implies $x * z \le y$

- 2) $(x*z)*(y*z) \le x*y$
- 3) $x \le y$ implies $x * z \le y * z$
- 4) $x * y \le x$
- 5) x * 0 = x

Lemma 4 In any BCK-algebra, we have

$$x \ast (y \land x) = x \ast y$$

here $x \wedge y = y^*(y^*x)$. Obviously, $x \wedge y$ is a lower bound of x and y, and

 $x \wedge x = x$, $x \wedge 0 = 0 \wedge x = 0$. But in general, $x \wedge y \neq y \wedge x$

In the following, we give equivalent definitions for BCK-algebra.

Lemma 5 An algebra (X;*,0) of type (2, 0) is a BCK-algebra if and only if it satisfies the following conditions:

BCI-1
$$((x*y)*(x*z))*(z*y) = 0$$
,

Proceedings of Annual Conference of China Institute of Communications

x = 0

(a)
$$x^*(0^*y) = x$$

BCI-4 $x^*y = 0$ and y^*

imply x = y,

In combinatory logic, there are various combinators. The names combinators are attached to formulas of the algebra in the following way: If a combinator U has functionality V the corresponding formula is obtained by replacing FZW in V by W*Z and equating the result with 0.

The functionalty of the combinators K, B,

C, I and W are given by

$$Fx(Fyx) \quad K$$

$$F(Fxy)(F(Fzx)(Fzy)) \quad B$$

$$F(Fx(Fyz))(Fy(Fxz)) \quad C$$

$$Fxx \quad I$$

$$F(Fx(Fxy))(Fxy) \quad W$$

Thus according to the above procedure the corresponding formulas are:

$$K \quad (x^*y)^*x = 0$$

$$B \quad ((y^*z)^*(x^*z))^*(y^*x) = 0$$

$$C \quad ((z^*x)^*y)^*((z^*y)^*x) = 0$$

$$I \quad x^*x = 0$$

$$W \quad (y^*x)^*((y^*x)^*x) = 0$$

So we have the following theorem.

Theorem 1 An algebra (X;*,0) of type (2,0) is a BCK-algebra if and only if it satisfies the axioms K, B, C and the rule BCI-4.

Lemma 6 In any BCK-algebra X, we have

$$(x*(x*y))*(y*x) \le x*(x*(y*(y*x)))$$

for all x, y, z in X.

Definition 2 Let (X;*,0) be a BCK-Algebra and let X_0 be a nonempty subset of X. Then X_0 is called to be a subalgebra of X, if for any x, y in X_0 , X_0 is closed under the binary operation * of X.

Lemma 7 Suppose that (X;*,0) is a BCK

-algebra and let X_0 be a subalgebra of X. Then

1) $0 \in X_0$

2) $(X_0; *, 0)$ is also a BCK-algebra

3) X_0 is a subalgebra of X

4) $\{0\}$ is a subalgebra of X



Definition 3 A BCK-algebra (X;*,0) is called to be positive implicative if it satisfies for for all x, y, z in X.

Lemma 8 Let (X;*,0) be a BCK-algebra

Then the following conditions are equivalent each other:

- 1) X is positive implicative;
- 2) x * y = (x * y) * y
- 3) $(x^*(x^*y))^*(y^*x) = x^*(x^*(y^*(y^*x)))$
- 4) x * y = (x * y) * (x * (x * y))
- 5) $x^*(x^*y) = (x^*(x^*y))^*(x^*y)$

6)
$$(x^*(x^*y))^*(y^*x) = (y^*(y^*x))^*(x^*y)$$

Lemma 9 Let (X;*,0) be a BCK-algebra

Then the following conditions are equivalent:

- 1) X is positive implicative;
- 2) $(x^*y)^*z = 0$ implies $(x^*z)^*(y^*z) = 0$
- 3) $(x^*y)^*y = 0$ implies $x^*y = 0$

Example 2 Let $X = \{0, 1, 2, 3\}$ and * on X be given by the table

| * | l |) 1 | 2 | 3 | |
|---|---|------|---|---|--|
| 0 | (|) () | 0 | 0 | |
| 1 | 1 | 1 0 | 0 | 1 | |
| 2 | | 2 2 | 0 | 2 | |
| 3 | | 33 | 3 | 0 | |

Figure 2 The Result Table of $X = \{0,1,2,3\}$ by * operation

Then (X;*,0) is a positive implicative BCK-algebra.

3 Conclusions

Definition 1 A BCK-algebra (X;*,0) is called to be negative implicative if it satisfies (z*x)*(z*y) = z*(x*y) for all x, y, z in X.

In order to give some equivalent conditions of negative implicative BCK-algebra, we nee the following theorem.

Theorem 1 In any BCK-algebra (X;*,0) we have y*(x*z) = z*(x*y) for such x, y, z with the condition (x*y)*(x*z) = z*y in X.

Proof. By BCI-2' we have

 $x * (x * z) \le z, x * (x * y) \le y$. By theorem 1.4 of [1] we get

$$(x^*(x^*z))^*(x^*y) = y^*(x^*z) \le z^*(x^*y)$$

 $(x^*(x^*y))^*(x^*z) = z^*(x^*y) \le y^*(x^*z)$

Obviously z * (x * y) = y * (x * z).

The proof is completed.

Theorem 2 Let (X;*,0) be a

BCK-algebra, then the following conditions are equivalent each other:

- a) X is negative implicative,
- b) x * y = x * (y * x),

c)
$$x * y = x * ((y * x) * x)$$
,

- d) x * (x * y) = x,
- e) $(x^*(x^*y))^*(y^*x) = x^*(y^*x)$

Proof (a) \Rightarrow (b) By definition 2, we

have x * y = (x * y) * (x * x) = x * (y * x), Which is (b). (b) \Rightarrow (c)

$$(x*((y*x)*x))*(x*(y*x)) = (y*x)*((y*x)*x) = 0$$

$$(x*(y*x))*(x*((y*x)*x)) = ((y*x)*x)*(y*x) = 0$$

then
$$x * ((y * x) * x) = x * (y * x)$$
 by (b) we obtain $x * y = x * ((y * x) * x)$. (c) holds.

(c) \Rightarrow (d) Substituting x * y or y in (c) we get

$$x * (x * y) = x * (((x * y) * x) * x) = x * (0 * x) = x * 0 = x$$

which is (d).(d) \Rightarrow (e) Right *-multiplying both side of (d) by y * x, we have

$$(x*(x*y))*(y*x) = x*(y*x),$$

thus (e) holds. (e) \Rightarrow (b) Concerning (e) we get

$$(x*(x*y))*(y*x) = x*(y*x) \le x*y$$

If we substitute x * (x * y) for x, and substitute y * x for y, then we obtain

$$x * y = (x * (x * y)) * ((y * x) * (x * (x * y)))$$

$$\leq x * ((y * x) * (x * (x * y))) \leq x * (y * x)$$

thus x * y = x * (y * x), which is (b). (b) \Rightarrow (a) Suppose (b) holds. Then

$$((z*x)*(z*y))*(z*(x*y)) = ((z*(x*z))*(z*y))*(z*(x*y)) = (y*(x*z))*(z*(x*y)),$$

by theorem 2 y * (x * z) = z * (x * y),

thus (y * (x * z)) * (z * (x * y)) = 0,

then ((z * x) * (z * y)) * (z * (x * y)) = 0. Similarly

$$(z*(x*y))*((z*x)*(z*y)) = (z*(x*y))*((z*(x*z))*(z*y))$$



$$= (z * (x * y)) * (y * (x * z)) = 0,$$

thus we obtain (z * x) * (z * y) = z * (x * y), (a) holds.

This finished the proof.

Corollary1 A positive implicative

BCK-algebra is not a negative implicative

BCK-algebra.

Proof. Let X = (0, a, b, 1) and * on X be given by the table:

| * | 0 | a | b | 1 | |
|---|---|---|---|---|--|
| 0 | 0 | 0 | 0 | 0 | |
| а | а | 0 | а | 0 | |
| b | b | b | 0 | 0 | |
| 1 | 1 | 1 | 1 | 0 | |

Figure 3 The Result Table of X = (0, a, b, 1) by * operation

Then (X;*,0) is a positive implicative BCK-algebra, but is not a negative implicative BCK-algebra. As

$$(a*0)*(a*b) = a*a = 0$$

 $a*(0*b) = a*0 = a$
 $(a*0)*(a*b) \neq a*(0*b)$

The proof is finished.

References

- [1] K. Iséki. BCK-algebras, Math. Seminar notes, [J].4(1976):77-86.
- [2] Z. M. Chen, H.X. Wang. On simple BCI-algebras, Math. Japon. [J].36(1991):627-632.
- [3] W. H. Cornish. On positive implicative BCK-algebras, Math. Seminar notes, [J].8(1980):455-468.
- [4] K. Iséki. S. Tanaka. An introduction to the theory of BCK-algebras, Math. Japon. [J].23(1978):1-26.
- [5] Jie Meng, Young Bae Jun. BCK-algebras. [M]. K YUNG MOON SA CO. 1994.
- [6] Ahsan, E.Y. Deeba A.B.Thaheem. On prime ideals of BCK-algebras, Math. Japan, [J].1991(36):875-882.
- [7] Z. M. Chen, H. X. Wang. On simple BCI-algebras, Math. Japan. [J]. 1991(36):627-632.
- [8] S.K. Goel. An introduction to injective and projective BCK-algebras, Math. Japan, [J]. 1991(36):59-66.
- [9] W. P. Huang. On the semigroup theory of BCI-algebras, Pure and Appl. Math. [J].1993((1):28-34.
- [10] Zhu Yi-quan: On lattice implication algebras and BCK-algebras. Pure and Applied Mathematics. [J]. 1999, 3(15):22-26.
- [11] Zhu Qi-quan On Implication Algebras and BCK-Algebras. Fuzzy Systems and Mathematics. [J] 2002, 3(16):32-38.
- [12] Xu Shao-xian. On the Semigroups Description of Implicative BCK-Algebras. Journal of Southwest China Normal University (Natural Science).[J]. 2003, 6(28):856-858.